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% — A NE = - B4
- WRE = 2 + R
WE = mEEK - 2
Tk — A EH = B - B—AEK
% BIRR = B x BR
BE - WRE : B
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AR a+b=b+a

MEEERE (a+b) +c=a+(b+0)
AR axb=bxa

RiEESE (axb) xc=ax(bxc)
RiEDBE (a+b) xc=axc+bxc
L EEE a-b-c=a- (b+c)
BRiZEEIE arb+c=a+ (bxc)

1.4 5k, FRZERIEH

(1)A+0.1=Ax10
(2)Ax0.1=A=10

(7)A+0.01=Ax100 :
(8) Ax0.01=A+100

(3)A+0.2=Ax5
(4) Ax0.2=A=5

(9)A+0.25=Ax4
(10) Ax0.25=A=+4

(5) A-0.5=Ax?2
(6) Ax0.5=A=2

(11) A+0.125=Ax8
(12) Ax0.125=A=+8
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B <xHE =R
BN - HE=BN
Bt - BN =HE

T e « THERT A= THEM &
TR R - TIERTIE) = TAER
TR THEME =TI

1 fE x A = B8 72
BE-[E=EE
RE - EE =18

T E A < B AT (| =B’ iR
P& A2 + HIB R A =& E A0
BBAE + 3 E A0 =108 R A
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B D = BE
RE BN = (08K
BE D8 = BOE

1 (B (58 = T4
JUEE- 1 (540 = (55
JUEE -5 =1 (5%

DNy + N0 = #0
A0 - Hep—MngL = B— 0%

EE < FE =R
R+ EP—PEE = F— 1 EE

WO - = 2
B - =
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	1.数的运算

